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Seventh Semester B.E. Degree Exp,+iftStiono Feb./NIar. 2022
'*rr System AnqlysisComputer Techniques in HqWfl%tu.,._.

Time:3 hrs. {- i":hou*.Marks:100
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Line no.+ ild I 2 n
J 4 5 6 7

Bus cod*; q t-6, _2:6 2-5 t-3 3-4 4-5 3-6
Adr$i.ft$irce in pu 30**: '**145 20 10 25 15 35
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* A ,, #'
'a:-

. ,:,i;' r*{[i; 
.*" Fig.Q2O) r,qryilp* (10 Marks)

2 a. For thgq,ystem line data giydn b.glbw, obtain the Ysus by singular transformation select bus
6 as reference bus and a*t"fqffith elements (3nd7 as links. Veriff the results obtained by

ffi 'ql,

"' * {!+ ;r'-' ' 
:'1:':

b.
F.+" Y':* q*I;j (lo Marks)

Find Zsus foffthe system whose*re"Sctance diagram is shown below : All the impedances are

marked in p.u.
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(10 Marks)



3a. Explain the algorithm of Gauss Seidel

types ofbuses.
b. Following is the data ofpor ver system for load flow

BUS codes
Lqg D-qtd'

Ad?flifittrihce

.si==

{,@,'

t-2 iq2snSi
l-3 * t{-4i
2-3 *md666 -2.664i
2-4'ftk r-4i
3, 2-8i

,u) lJala
BUS code ;'=ppli:,:' o lv R.emarks

1 r1r
1.06 Slack

2 ;;0.5 0 1.04 {fli0 PV

0.4 0.3 PQ

ilffit' 0.3 0.1 *i='- PQ

,frIrk*{.
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^.*flK='
Load Flow method,ffi?..i Power

'',,,""-
r load flow solution:

10EE71
system having all

(10 Marks)

'%*

4 a. Explain wigf't4eltriilp of algorithm the com$.frtational procedure for load flow solution using

NR methErffvqhen the system is contqiniug all types of buses. (10 Marks)

b. Compap t{gwton Raphson metho4dFauss Seidel iterative mgthod. (06 Marks)

c. Mentiottthe approximations madeffiplF method for load.,iflrhdV analysis. (04 Marks)
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5 a. Explain the method of.'".EffiI incremental co:S$*Sfor the econonfi€;;;bperation with the

b. Two generators are corrpled through a tie.1{ffi}ilibad is at ttre by! of generator 2, it is known
that a transfers g;fllgglulW from generator'l5ver the tie line {neans a transmission loss of
10WM. The ingr._e. ntal costs are rq'&L,, "u' 
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Find fid;#imum *n"0"?.:1,}}1] eration ":. .r*Fd if tr. = 25Rsi]vIwh. (r0 Marks)

6 a. )Te ali transmission $ryfficoefficients ob?p the general expression of Bmn with usual

dil*lations '& '\, (10 Marks)

6ffi$tain the mattreffiSal formulation affisohtion procedure of optimal scheduling of

Reactive power "q6ten at bus 2 is 0.1 S Qz ( 1-0flu. Determine the voltage at the end of
first iteratio, "r,:ffiss - Seidel *"thod. Sf#e accelerati"" f.a".. 
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a. Explain vario thods employgffir improving the_transient stability. (10 Marks)

b. nxphin m8iUgh"of finding the dhdsient stability of a given power system using Milne's
predictor corr6ctor method.. 4e (10 Marks)

* t'l '

a. Consider the system harfi{pgTollowing parameters :

P. = 3.0pu i yrP- : 1.2P,L i vzPo, : 2.0, H : 3.0 ; f = 60H2, At : 0.02sec, p" = 1.5pu.

Determine rotor atlgl6' and angular frequency at the end of 0.2 seconds using modified
Euler's method^.=;ffur (10 Marks)

b. Explain the ret'd3.piltation tlie following for power system stability studies

i) Exciters (SVp" 1 system) ii) Govemors. (10 Marks)


